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Table 1. Comparison of Morinol Lignan Chemical Shifts

C/H Position | "Morinol I'  (7Z, TE)-7  (7E, T'E)-7 (7Z, 7'2)-7  (7Z, 8E)-32 (7E, 8'E)-32
C4 149.2 149.0 150.0 148.6 149.0 149.0
c3 149.0 148.6 148.6 148.6 148.7 148.5
c4' 148.6 148.5 148.5 148.1 148.5 148.2
c3' 147.8 148.1 147.9 148.0 147.5 147.5
c1 130.7 138.5 137.9 138.7 136.4 136.0
c7 130.6 131.7 131.0 131.0 133.3 132.6
cs 130.3 130.4 130.4 130.1 133.0 131.3
C6' 128.9 129.8 129.8 130.0 132.7 129.7
o} 128.5 129.4 126.9 128.9 129.6 128.2
c1' 128.1 126.0 125.5 127.9 129.1 126.9
co' 127.2 121.2 121.0 121.2 121.7 122.1
C6 119.2 119.1 118.9 121.2 120.5 120.4
c2' 113.1 112.0 111.9 112.0 112.2 112.3
C5 111.3 111.1 111.1 111.9 112.0 111.9
c2 109.2 110.9 110.9 111.0 111.3 111.3
C5' 109.2 108.6 108.5 110.9 111.0 110.8
o) 64.2 61.3 67.2 77.2 58.3 65.4
Cc7' 36.2 39.5 32.3 34.7 39.1 39.4
H2 7.03 6.98 6.92 6.93 7.00 6.86
H6 6.88 6.95 6.91 6.94 6.97 6.86
H5' 6.88 6.87 6.90 6.86 6.86 6.84
He' 6.83 6.88 6.85 6.87 6.82 6.82
H5 6.79 6.84 6.82 6.86 6.77 6.73
H2' 6.71 6.89 6.92 6.89 6.74 6.71
HY' 6.28 6.47 6.43 6.66 6.20 6.56
H7 6.24 6.50 6.65 6.51 6.58 6.58
Hs' 6.18 6.20 6.18 5.82 6.11 6.12
H9 4.33 4.34 4.28 4.35 4.47 4.44
H7" 3.55 3.20 3.42 3.36 3.47 3.42
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